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Simaisg elanmésEnd sl Lfleurd) 2 eTargT CremLiGenen sliurTsgis
Qamararayl. siFsILSeled GepuimLidern, s samaTaniiiumerflLb
o |_amgwrsgd Ozfedésab.

(2) Beod Sdeg SGUY ww@mar wLLEHCL TWFAUSDED
<y 5CEMy QeausH@GL LwaU(HSS Gauar(b. LIRS UaTeISDES
Quandléd LWeTLHSSeLD. '

Sidleyenrset : (1)

Check the question papef for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

" Instructions : (i)

diagrams.

@il : Gaamauwrer @ALgH® LLD aerbg FoaurBsmer GT(LPSALD.

Note :  Draw diagrams ard write equations wherever necessary.

u@dl - 1/ PART - 1

@iy @ (i) SimenEs) cNamTésEhsEGD edenLwarfl&&EeyLb. 15x1=15

(i) Qar@ésruL(Berer wIHDHI AenLsafle Waab ghyamL e aws
Coip0sBs5s GMSLGLE alaulamand Gs&gl eT(PSeLD.
Note : (i) Answer all the questions. .

(ii) Choose the most appropriate answer from the given four alternatives
. and write the option code and the corresponding answer.
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Slemeumenareummd \ biooo s o : ;
- PDIET eTH 2y6dlevl M-8 Hlenmemhm m@mtV(EUnmrrrrusmrr@LD ;

() CoH

(@) CeH |

- g8 (") @@aiumeanggio
Which of the following is
(a) CoHyq

() CgHyq

aliphatic saturated hydrocarbon ?
(b)  CgH,y,
(d) Al of the above

suGwrard NaCl W ELy

W KCl senyadaer swrfles e, NaCl 8;6.6)
cepieoe —2°C aafld KCI senpaedlet erdliumraamiiu@in o_enpiblene S
(@) —1°C () -2°C (®) oc G

qu{imdfxl aqueous solutions of NaCl and KCI are prepared. If the freezing point
of NaCl is -2°C, the freezing point of KCl solution is expected to be :

(a) -1°C (b) -2°C (c) o0°C (@) -4°C

Somse Aergdsailear +1 eQemereQen sfwimer UM euflens
(=) —C(CHy); > —CHI(CHy), > — CH,CH; > ~CH,

(=) —CH; > —CH,CH, > —CH(CHg), > - C(CH;),

(8) —CH,CH, > —CH,4 > —C(CHS)‘:,, > —CH(CH,),

() —CH(CH,3), > —C(CH,)y > — CH,CH, > —CH,4

The correct relative order of +I effect of alkyl groups is :

(a) —C(CH;); > —CH(CH,), > —~CH,CH; > —CHj4

(b) —CH; > —CH,CHz > —CH(CH,), > —C(CH;),

(c) —CH,CH; > —CHj; > —C(CH,); > —CH(CHj),

(d) —CH(CH,4), > =C(CH;); > —CH,CH, > —CHj4

0°C hmb 1 atm 2(1p5558ld 7.5 g aumuy 5.6 L san Sereneu S5 QarenanLd
crafléy ybg eumuy : _
(1) CO (<) NO (@) co, (F) N,0

7.5 g of a gas occupies a volume of 5.6 L at 0°C and 1 atm pressyre. The gas
18 : ' .

(a) CO (b) NO (c) CO, (d) N,0

Kindly send me your answer keys to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

5.

www.Padasalai.Net www.CBSEtips.in

¢ 6022 |

CurGarr CanGeor @ifarsald, eraslyrer sarburmer LSS G

SapOO
edenar apraCar whmid uryr GLbisafld Hepdng.

STTERTLD QDT Dlgneirarg eumany ferral Haa.

(<) Sapmy &l T HMFERTD e,

(<) Sappl LHWD STrewTd @ram@id 5. Gogih sryewTonsig) spBlHE oflwumer
GQeTESID <SLD. ' |

(@) smppI LOMID STTEwIDd @ranHb Seum.

(F) Sapmi LHHID SMTeRTD GremBibd &fl. e SMyewwOTeNg] SaDHIDE &l e

cHleTESLDEVED.
Assertion :  In monohaloarenes, electrophilic substitution occurs at ortho and
para positions.
Reason : Halogen atom is a ring deactivator.

(a) Assertion is true but reason is false.

(b) Both assertion and reason are true and reason is the correct explanation of
assertion. '

(c) Both assertion and reason are false.

Both assertion and reason are true but reason is not the correct explanation

of assertion.

(d)

19 6tT6u(mpLD a{m@?@)a;érﬂeb Qum(mERTEPLD FTTT LIGwTL

(=1) eramgmes N (<) Hlewp
(@) Bleom/sansiare] (F) Seryemey
The intensive property among the quantities below is :
(a) enthalpy (b) mass

mass
(c) volume (d) volume
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7. Spss@nicupda &l sflwuner sapm ey 2

(=) "‘9“’@%33@111”“1-@ WpeGanmd@ whpib QenGenris@ elenansanet L0 lemaile)
L& @b

() suflooule o drar @O Siowilng Q-dr wHiy ariGurgb swhlene
mngﬁaﬂmy el @enpeurs Qm&@1b.
Qeut ‘ : .

(Q) Qﬂmgujﬂmmuﬂmm Qun@g_@ Fobleney el odiyser mrrglL@lD-

(FF)‘ @endlen Qm LdssHembab soflevaufenar oienLwemb.

Which one of the following is incorrect statement ?

(@) presence of catalyst affects both the forward reaction and reverse reaction
to the same extent. ‘

(b) for 'fl.system at equilibrium Q is always less than the equilibrium constant.

(c) equilibrium constant varies with‘temperature. |

(d) equilibrium can be attained from either side of the reaction.

8. Qumpsys.

(1) -NoO, (i) quumusi)

(2) —OCH, ' (i) <OCenr

(3) -CH,-CH,-CH, (ili) Sssraed

(4) —-NH, (iv) Gmrw)i;@rjn

(1), (-Gi), (2)-Gi), (3)-Giv), (4)-(3)

(=) (1)-(iid), (2)-(iv), (3)-(), (4)-(ii)

(8) (V-G (2)-Gii), (3)-61), (4)-(i

() (1)-(), 2)-(), (3)-(iv), (4)-(ii):

Match the folloi)ving :

(1) —N02 (i)  Propyl

(2) —OCH, (ii) Amino

(8) ~CH,-CH,~CH; - (iii) Methoxy

(4) -NH, (iv) Nitro

(@) (1)-Gii), (2)-Gi), (3)-(), (4)-()

(b)  (1)-(idi), (2)-(iv), (3)-(), (4)-(ii)

() (1)-(iv), (2)-(ii), (3)-(i), (4)-(ii)

(d) (1)), (2)-6), (3)-(iv), (4)-(iii)

" ‘
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9, @Curulan erarug Spsaani. aps sny o Ganamdblar safln ppatd o ?
(<) lgSHwid (<) Gamgunb (@) g (rr) Qumréhub
Spodumene is the mineral source for which of the following alkali metal ?

(@)  Lithium (b)  Sodium (c) Rubidium (d) Potassium

10. Epdaramueadndr ag ofsuts FCrhn bmamms Cerem(hereng ?
(<) BaCl, (<24) MgCl, (@) SrCl, (FF) CaCl,

Which of the following has highest hydration energy ?

(a) BaCl, (b) MgCL, (c) SrCl, "~ (d) CaCl,
11. wfligunb aL’-é;@ Qs renT(HeTers).

(=1) 1p+2n (<=4) 1p+0n (@) lptln () 2p+1n
Tritium nucleus contains :

(a) 1p+2n (b) 1p+On (c) 1p+1n (d) . 2p+1n

12. Qereumesanaupbled erg enliur srhsssamen Csrear g ?
(1) 05 (25) 03

() O, () @eundled ergibflerency

Which- one of the following'is diamagnetic ?
(b) 03

(c) O, (d) None of these
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13. Wlayesdd Hpwraad Gan®aer Gfens

14,

15.

WenL_wjtb efleneray

(<) smbdLI_en afeneray (<ap,) fwer eflenaray

(@) evmis Neveney

(™) wepspe efanera
Splitting of spectr

al lines in an clectric field is called :
(@) Compton effect (b)  Zceman cffect
(c) Stark effect (d) Shielding effect

am@mr‘mﬂmn GO@ar wpmbd HCl GRHema @ran® o Har GRT a.J'E@G!u
@@memuuL@ Qranhn @Cr Cpradeo Hpssiiudaper. Qeucimenilp
<Gureflub GReatmey® sueerwitd WPser sl oTriiE 2 (Haurdlanngl ?

(=) <CGuraflwr GhemeuwimEle

(=) Gendsr pEuLEHde

(&) epriar py Bagdaibd wyenowurs

() evanroear GGearmany() GOl ed

A bottle of-ammonia and a bottle of HCI connected through a long tube are opened

simultaneously at both ends. The white ammonium chloride ring will be first
formed : : v

(a). near the ammonia bottle

(b) at the centre of the tube

(c) throughout the length of the tube
(d) mnear the hydrogen chloride bottle

© - | . |
CHQ—E—CH3 LOMHMILD CH2=(|3—CH3 < Fwenel :
0 0®

(<=1) @aﬂafr%prrbgm LOTHOENLOLIL (<) 2 Laflensey emliLser

(©) eug SenwLiL&eEr (rF) @urkig Foblene wrmdwib

©) ‘ ,
CH,-C~-CHjz and CH2=(I:—CH3 are :
I

0 o® |
(a) optical isomers | (b) resonating structures
(c) conformers ~ (d) tautomers
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L@# - Il / PART - 11
Gily : aemauCuend Qpni easEsse elmLwallssali. e ereim 24 -&©&
sLLmuwns allewalsseab. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.

16. Srmb swren Hlevp — eueorumidsa|ib,

Define Gram equivalent mass.

17. L -2ppd wiLsdd sremiu@b ifsuls easlyrasafdan eramafésmsaml
SaTESHHS. :

| Calculate the maximum number of electrons that can be accommodated in L
shell.

18. QSDGbT‘r_D[ eUENS W TeuT &a;llllﬂlspasb'ruq amanL_ar[HEemer @'r_rﬂu[ﬁ]@a;

Mention the three types of covalent hydrides. -

19. seananses Qswdpapsstan Hlubsamanser Wramel ?

What are the conditions for the spontaneity of a process ?

20. @mﬁu({r,;ﬁe&r @@.uﬁl'_@\ Benl(pemeni allers@s.

Explain sign convention of heat.

_ [nHs] [0
~ [NOI*[Hp0]°

21. swhera LrHE wHOL, Ke QaraL @@ swHoe doassran

BGHE Fwen GelwiurL Geudlgenuri el H(Hs.
Give a balanced chemical equation for the equilibrium reaction for which the

4 5
equ.ilibrium constant is given by expression K¢ = [NH‘Z] [02] =
‘ | [NOJ" [H,0]

A ‘ ' | [ piys / Turn over
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220 ' > > i T 3 - B “ T ' & Lb'
BGECLraNs smysdhsdr crenld CampLsHEDS cuenIIPISHEU

Defi - : : ]
ine the term “isotonic solution”.

23. el @QerrenyanL ereueun mrHGaarms wrpmeuTil ?

How will you convert ethyl chloride to ethane ?

24. dareumbd eleersemar Lisd Cleis.

250°C

1 C.H-C
() 675 l+2NH3 S50 atm

(i) CeHsCl+2Na +Cl-Cohy —TET

Complete the following reactions

3 C.H. : 250°C
() CeHsCl+2NH, —>0C
aie - Ether

ugﬁ - Il / PART - III

GOy : ﬂGDQJGUJ@]LD SN @SS (EhE S, aﬁ]as)l_luaﬂs;esmm err erawr 33 -&
SL_L_MuIIDNS aﬂml_maﬂa;a;eum _ 5(33—13

Note :©  Answer any six questions. Question No. 33 is compulsory. -

25. Gemgl L gaflobsafdar < éadnGamn erammenem EAEE (.
i) 0o, (ii) . HySO,
Calculate the oxidation number of underiined elements

(i)  CO, (ii) HyS0,

26. TS e HTLLLD — eUEnFLMIESHaLD.

Define electron: afﬁnitjr.

A
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Lrorailer uGH iwss eNden) g,

State Dalton Law of partial pressures,

PU 2ol Swhss Gopay wHUGS R G soTAUIGEld Goran Hampeu
SQUEAL o ey ML g ener ET (PG,

Write the formula to calculate the molar mass of a solute from relative lowering
of vapour pressure values,

HF padmpn e maurgome «pndiLmd GupQurmbgissd epab dlauflésab.

Describe the formation of HF molecule by orbital overlap.

gafl &PHE WrHHWD ereammme ereman ?

What is meant by optical isomerism ?

sHEsaT LMD TRsLyTar sauf QuIBLaEssdaLGu o drar Caumur@sd
epaTdlenet S([Hs.

Give any three differenceé b_etWeeri nucleophiles and electrophiles.

asHSeman Galips smyb swps QUILLTAWD QuitrbsGan HLer e -
L@sEDCUTE Hapag wWTg ? |

What happens when ethylene is passed through cold dilute alkaline potassium
permanganate ?

NH,, N, wigib H, spfwepiler swfleed Clableser weopGu 1.8x1072 M,
1.2x 1072 M wpmid 3x 1072 M. Ny wpmid Hy aﬁleﬁl@p@ NH, 2 (heun@Ld eflenaunds
soflere wriledlufar wHlberand srains.

The equilibrium concentrations of NH;, N, and H, are 1.8x107 2 M,
1.2%10"2 M and 3x 102 M respectively. Calculate the equilibrium constant for

the formation of NH, from N, and H,.

[ HlpliLs / Turn over
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U@#l - IV / PART - IV
GUIOY : Sievenga edamasErs@nd el weldsalw.
Note :  Answer all the questions.

5x5=25

34. (@) () n=4 -&@ snpHuwner oI Lrisaldn aanafsms Wg 7
(i)  eobrmeler eradlyrear Sienwlil| whmib oy QL Ted auerUL&Seaen
CT(LPSI . |
S|V60G|
(=) @wefl ersdear sar_ub uredi wapamer efoufléEsaid-
(@) (i) How many orbitals are possible for n=4 ?
(ii) Write the electronic configuration and orbital diagr
OR
(b) Describe the Pauling method for the determination of ionic radius.

am for nitrogen.

35. (=) (i) Qulelwgden @premr L um%rQa;@és@ STTERTLD Greumes ? -
(i) Quflelwb, H&@EHLUSHL 2 arer G saflhsaldBbS Gaugu(BLo
TCs@ILD epETn LIGRTLISMETES Fal)s.
JESVEV: T
(<) o1& Y poeler HAplndwdyseer ellers@s.
(a) (i) What are the reasons for the anomalous properties of Beryllium ?
(ii) Give any three properties of Beryllium that are different from other

elements of the group.
OR

(b) Explain the characteristics of .internal energy.

36. (<) Qerdfee gpn wAULsd@ba sordurmafe Curert Hopow
ereleumny samddl(Heumi ? & ,

| LN
(3)) UTILMIGEELD

(i) Genemriiny fHemd

(ii) QewentliLys Camanmid

(i) GenerTiiL MMV - e
(a) How will you determine the molar mass of solute from elevation of boiling
point ? :

OR

(b) Define :

(i) Bond length

(ii) Bond angle

(iii) Bond enthalpy
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37. () c@slgren saufgaewn e mbsl selGameanli0d gpudh swelld
sereniowllenar ereueunmy firerudiumi ?

SIVEVF)
(<) Qemaumid Geiomis@nse IUPAC qpanpudér QuL@a.
(i) CH3—$H—CH—CH3
I
CHj Br :
(i) CH,—O-CH,
(i) CH;-CH,-CH-CHO
|
OH
(i) CH,=CH-CH=CH,
(V) CH3-C=C-CH-CH,4
| .
Cl |

(a) How will you determine the ionic character in covalent bond using
electronegativity values ? '

OR

(b) _Give the IUPAC 'ngmes of the following compounds.

(i) ~CHy—CH-CH-CH
CH3 Br

(i) CHz—O-CH,

(iii) CHs—CHy—CH=CHO
»
OH

(v CH3-C=C-CH-CHg
: I
Cl

A _ [ muys / Turn over
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38. (=) Quandaleimmbg Sipdaan. Carwrtismer ereveurg sumfloumd ?
(i)  eplGrr Quenden
(i) Quenfer sourald obled
(iii) BHC
S{6V6VF) |
(<) (A) erar eraflw’ pdfear HCL o Lan ellevanflpg Garon (B) -25 F(HEDI-
Cogib (B) e eibCurailure)ar eldaenfiig C,H,N erem Qpaéea)

aumlItIuT gt e LW (C) & smEADE!. (C) -wrang srienuiedlen eSleners &
o Lu@&pal. (A);.(B) whmb (C) -0& samLs.

(a) How will you prepare the following compounds from benzene ?
(i nitrobenzene
(ii) benzene sulphonic acid
(iii) BHC
| | OR

(b) _Simplest alkene (A) reacts with HCI to form compound (B). Compound (B)
reacts with ammonia to form compound (C) of molecular formula C,H;N.
Compound (C) undergoes carbylamine test. Identify (A), (B) and (C).

-00o0-
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